T3 04£9A 1 HRE

ENEZANRREREY (RBDEERXH)

E B R
(BAT : A)
H30.9. 1 BUEDEERE K H30.6.1 & o ki
THT AT 44 % L8 &t e
(A) (B) (A-B)

AL 26 59 85 88 -3
T 0 1 1 1 0
LR 5 11 16 17 -1
Ergihi 7 7 14 14 0
B ZEHT 2 8 10 10 0
W -HT 1 0 1 1 0
Ve EHT 0 0 0 0 0
FRAT 1 0 1 1 0
FRlk o> J55 BT 2 4 6 6 0
(51 X]) 44 90 134 138 -4
e T 11 20 31 32 -1
HEET 14 28 42 42 0
2 FH T 9 16 25 27 -2
KHT 3 12 15 15 0
PARE 3] 6 10 16 16 0
Ergihi 3 6 9 9 0
£ e T 1 4 5 5 0
JIASHT 1 1 2 2 0
FEHRHT 3 2 5 5 0
(= g AT 7 12 19 19 0
LT HT 2 6 8 8 0
BT 1 0 1 1 0
(% 2 X]) 61 117 178 181 -3
) 105 207 312 319 -7




